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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question. .

The number of grams of solute dissolved in : 9311{ % s St 100 cm’ 2 PSSy |14
100 em’ of the solution is called % :
m/m (D) m/iv (C) viv (B) vim (A)
The electrons that pair up to form a chemical : thM@L&;JzﬂéLLW@MK S8 |2
bond are called :
Lone pair % ¢ (D) Bond pair 44| (C) Anions Jt/ (B) Cations g (A)

This metal is used to make jewelry items because of {_HggJL»'Huid/:;?c,g:J@yr“’;)’/ﬂw 3
its unique characteristics :

Lead 4 (D) Platinum ¢ (C) Sodium 3+ (B) Zine o7 (A)

For the mass number, we use symbol : 1 . W JL»“" J/ (7 4,’_ Z / Jhid

A (D) n (C) P (B) Z (A
The apparent charge assigned to an atom of an : ‘LVMEJ.‘?)}?//‘:JTLK‘;’L M!Jgﬁruﬁdzgl. 5
element in a molecule or in an ion is called : ’

Oxidation number =477 (B) Electronegativity ‘CL gi?,;é; (A)
Bond %\ (D) lonization potential £ y¢~7t# T (C)

He is considered the father of nuclear science et ¥ S A S - T7i6
Dalton ™3 (D) Newton % (C) Bohr 14 (B) Rutherford 3 (A)

The loss of electrons by an atom or an ion during ‘< thna/l}K'/)}g'c,JTgﬁ'u’fuﬁu&’g’d/ﬂu’( 7
a chemical reaction is termed as : )
Electricity (91 (D)  Electrolysis 15281 (C) Reduction o1~ (B) Oxidation o4/ T (A)

Along the period, which one of the following decreases : c‘-&yzﬂiﬂfé_duquf /Ec—gf: /bui',é L8
from right to left :

lonization energy SHASAET (B) Atomic radius uif,‘;/.fe! (A)
Electronegativity & Z‘.C;,;g, (D) Electron afﬁnity&;iuf}g! ©

Elements of group 13 to 18 have their : ugZ_.lgé_gu.‘fJf.._,/'/}/’?w"&;L ool & F 18130/ |9
valence electrons in subshell : ’ ’

f(D) d (C) p (B) s (A)
The scale of temperature in Kelvin scale starts from (°C) : g_tﬂﬁﬁfa (°C) Z/JJ:”CU}.{( 10
~273° (D) 273° (C) ~100° (B) 100° (A)

The chemical bond by mutual sharing of their : ;.tM;.D&:.J}w“gzih}?f[.fﬂm,‘cgﬂ 11
valence shell electrons is called :
Co-ordinate 2257 (D)  Metallic L& (C)  Covalent ok (B)  lonic £¥T (A)

The proportion of a solute in a solution is called : e wf bt ¥ ey u’%‘f 12
Solubility (% (D) Molarity (§ Z»* (C) Concentration o~ ‘/‘[ (B) Percentage 5‘2 (A)
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10 2. Write short answers to any Five (5) questions : . o Y 4 /"' L = Ul (5) CL s df -2
(i) Write-down the empirical formula of glucose and silica. el Uysé L}{ &6 €l sl /};g ()
(i) Define mole and give example. _é: JV 2! i .,v/" J Jy‘ (iiy

(ifi) Define element. Write the name of element -Cz-irLKJ’L"d—(F{—LU’:JI? -C{J/’JJI (i)

that occurs in liguid state. /{
(iv) How nucleus was discovered by Rutherford? “V =5l d/ JER L (lv)
(v) Define electronic configuration. -Z: i /J J AR STASN 7y~ d

(vi) State modern periodic law. Who put forward this law? %Q/‘g_g, ~ ..i Uk sl .f:L/ b ( Vl)
(Vi) Write the trend of shielding effect in the periodic table. el (B &7 Kvﬁ" /,UPJ’J"LCL/ {vii)

(viii) Why elements of group 1st and 2nd "L C‘bU/U/M\JU 'S’ ;’/me 4.7_5/;/»1; 4 {viii)

are called 'S' block elements?

10 3. Write short answers to any Five (5} questions : - AT 4 /‘? Lo = s (5) ét 2 J/ -3
(1) Write down the name of four types of chemical bonds. _::. /f b L /L»’l s J Jk| Ji‘ (i)

(if) Differentiate between donor and accepter in coordinate "4. Q/Uu" bﬂ/);u"ﬂtu)qfwy W (i)
covalent bond.

(ili) How is polar covalent bond formed? R & d/ ,&L woksy /:’ (i)

(iv) How does intermolecular forces affect the evaporation ¥h d;’/u'/’d/&/r:‘fd/ &l //:’/’yg { /' (iv)
of a liquid?

(V) How does temperature affect vapour pressure of a liquid? "4;#/;’)*/'&/ // gt L dl. / / (v)

(vi) What is difference between saturated and unsaturated solution? "a u/U/ J)’,v»u”uww Jf' (vi)

(Vii) What is meant by volume/mass % (v/m%)? Ve sl lf < (%v/im) JL{/};': sy (Vi)
(viii) How can you distinguish between solution and a pure hquid"*'u*&/d ‘Ld/ u’)i” 8 dhu“}lp (viiiy
10 4. Write short answers to any FIVE (5) questions : J" LL?/"’Z:«UV (5) éL B J/ -4
(i) What do you mean by oxidizing agent? Give an example. -i)JV.M %.JI/U/:.J J/bw ()
(i) What do you mean by rust? Write its equation. _é’g e hsls d/ J e sl b Ve (i)
(iii) Define oxidation number. -d. ..a!/’ J / 'J,«.«J/I Hi)
(iv) What do you mean by redox reaction? Give an example. -Z:)JVJ ?4_;/Mc,u'(!d/du/ IV)
{(v) Name four moderately reactive metals. _&v ct P -1 L,( e s s (V)
(Vi) Give the trend of electropositivity in a group and a period. e U/JL?/((_} r//; f*’JU"A//:L,A/ vi)
(vil) Write any two uses of platinum. _é S U gy g/ & ("Ut {vii)
(vili) What do you mean by non-metals? fe ol tf e &t (viii)
( PART-1I f».#’)
Note : Attempt any TWO questions. A iR L oely e J)/ Y

5 5. (a) Write down any five differences between- cf./fd/oLc_J/u*dufJL‘fu sl $us 2t V(u}’»/ () -5

Rutherford's atomic theory and Bohr's atomic theory.
4 (b) Explain compound and give its classification. -é oLl J (’lﬁ' O JI st i’fbf (v)
6. (a) Define di-pole di-pole interaction and ‘éwwuwfbégjvm rf’_.._y/‘ "Cf‘u)’ufi J:’d’; () 6
explain it with an example.

4 (b) Explain that evaporation is a continuous - ﬂj‘m./be i) JJ/J ;Ui(b) (7] (u)
and cooling process.

5 7. (a) Define electroplating and explain the electroplating &QUM"J’U’O(“! /’fibv”d..ff%ﬁfc' () 7
of chromium.
4 880 NaOH I L2 500 em® Ak 0.4M ¥ (NaOH) 271" T il ()

(b) How much NaOH is required to prepare its SO0 ¢m 3 of 0.4M solution.
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Which one of the following is not a triatomic molecule : ; crufdszJ&lJi}&/u/gJJJZy/; 1-1
€O, (D) H,0 (C) O; (B) H, (A)

Which one of the following shell consists of one subshell © < wgf.g_.@)ftzufa,uﬁ(_{s@u 2
Nshell LEN (D) Mshell X M (C)  Lshel [F L@  Kshell LK K (A)

Along the period which one of the following decreases: :q.[}n { 2 & u/ o St Kb ..{f 3

Electron affinity C“"}’u:}‘?i (B) Atomic radius ‘ﬁ/«_‘;/J 1 (A)
Electronegativity (£, 520 (D) lonization energy G771 (C)
Long form of periodic table consists of : Pe by ‘f‘:} J’*" Jﬁg/g.. T (/8 Ev|a

18 periods/i4# 18 (D) 10 periods /4% 10 (C) 7 periods [tz 7 (B) 8 periods [tz 8 (A)

Bond formed between two non-metals is expected to be: Brgad S0k & g £ Mt 2|5

Covalent 2oksd (B) lonic  A¥T (A)
Coordinate covalent wsksdex 57/ (D) Metallic & (C)
A bond pair in covalent molecules usually has : e G5, U bl osgy A AR ks |8
Three electrons »»1f (B) One electron ¢s 1Ll (A)
Four electrons '/':/”?Mg (D) Two electrons -j,}?;,, (C)
The equation of Boyle's faw is : te bl J ¥ J’flgf 4
T vV
¥ =k (D) 7=F©) =k (B} P=vt (p)

Solubility is defined as Lﬂzuﬁyf«wg’&fw.u:.:/'/(f/f...wgé/,fu’t}u"}.c‘,ﬁﬁuuﬂﬂj‘;&ﬁm{&kﬁr 8
number of grams of solute dissolved in----of solvent to prepare saturated solution at particular temperature
1000 g (D) 100 g (C) 100 kg (B) 100 mg (A)

The amount of NaOH required to prepare 1.0 M : 93%16)@’.&2,&40&)’1.0 M ;?/L&"J NaOH |9
solution is :

80g (D) 40 g (C) 30g (B) 209 (A)
The formula of rust is : Lo U6 ¥ 3|10
Fe (OH); (D) Fe (OH),.nH,0 (C) Fe,04,.nH,0 (B) Fe, Oy (A)
The oxidation number of chiorine in KC£O;is : ;s A ST (Ch) L'/"»Kuﬁ KCLO; |11
+4 (D) +5 (C) +6 (B) +7 (A)

Which metal is found in liquid state : e b dy ot e B S oS |12

Mercury 6./ (D) Copper 4§ (C) Iron W7 (B) Silver s (A)
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10 2. Write short answers to any Five (5) questions: o AT 4 /"" L =iy (5) é& & éf

(i) Differentiate between atomic number and mass number. -"é J/ )2 & / Jb ol / A (i)

(i) What is the difference between physical and -;E”/fdtf».,p&{tﬁ “c"_J/Q‘/ufagAr"chCﬂd‘b (ii)
chemical properties? Give an example of each.

(iii) Why ionic compounds have high melting and ?Q‘?Lﬁu&)u:[szﬂﬂ/}kﬁ&‘ﬁ)ﬁfgjz{T (iii)
boiling points? ~ . X

(iv) Write down electronic configuration of aluminium -éi:“/ /yﬁ/ﬁ’( VC;}g lJflb/éf..//ﬂf d/ ,4*'},4'.! (iv)

according to shells and subshells.

(v) Differentiate between shell and subshell with examples. _g.f J}uﬁfw»’fi b’éu:’f}‘ (v)
(vi) Describe the trend of electronegativity in periodic table. _“égfut?u(& fg}g e J’”L(;"L (Vi)
(vii) Define ionization energy. -Z;( Ty J G JRatE T (vii)

(viii) Write two features of long form of periodic table. -»é;f},yﬁﬁm&ﬂd?ﬂw.s T’OGJU (viii)

10 3. Write short answers to any Five (5) questions: . o T4 ﬁ’ L = Uiy (5) ég . Jf
(i) Define octet rule and duplet rule. -“é .51/7 J Ju ks s aé';f (i)

(i) Define double covalent bond with one example. & e Je -7 g sl owsksd S5 (i)

(iii) What is hydrogen bonding? e 8/: Lj/ ..fil. ufw}f& (iii)

(iv) What is absolute zero? T y’ 347 e ()

(v) How intermolecular forces affects evaporation? (¢ (}}’Z JRIZN 4 Miu;-g! v /’ JK //;’ /,:g LA (V)

(vi) Define aqueous solution with one example. -g‘f:/ & df}‘ _,Q .43/7 d/ U:’L’ J‘{'g’ (vi)

(vii) What is percentage - massivolume (% m/v)? & Surs e (% miv) Bl € 4 (vi

Write formula also.

(viii) Define saturated and unsaturated solution. _g§ .4/7 d/ u:,J" ,‘&.uf._“ui 2! i‘a../{ (viii)

10 4. Write short answers to any Five (5) questions: o oz L et (5) 6L = O
(i) Define reducing agent. , ~.<.£ .y S e Erks ()

(ii) what is meant by rust? S o1y &[ e K (i)

(iii) Define electrochemical cell. -gf:( _.93/7 J S J{:‘{)}g’ (iii)

(iv) What is meant by strong electrolytes? Give example. -é{fd@f’* g Lx s u:'/iJ;/‘gi S (iv)

(v) Why is copper used for making electrical wires?%< t'k kf JE w:.( /.f & bt d/ < (V)

(vi) Define non-metals. -g‘f:./ ._y/7 J Mt (i)

(vii) What is meant by electropositivity? /?c"_ sy kf & [j; z%){_’)}g’ (vii)

(viii) Write down the reaction of fluorine with water. -é:( ,;; dﬁ{,w d,‘:‘{ A L d_(: ¥ Q/:G (viii)
( PART-II (0 )

Note : Attempt any TWO questions. & =i L elly »e éf iy
5 5. (a) What were the results concluded by Rutherford in his Ll e f eI 3 ()
experiment? . .
4 (b) Define molecule and explain its types.-g;f = o J ¢V J J1 ! g":/ i d/ J{QL (&)
5 6. (a) Explain dipole-dipole interaction with -éc_JC‘*J HCE:»L%JU“{]JU{GU-J{,’GG ()
example of HC/ . R )
4 (b) State Boyle's law and derive its equation. -gf;’;m;,wJuw é@/g{d!ﬁ'ﬁgﬂx (./)

5 7. (a) Define electroplating and explain the -éut,. _ﬁ:%)}gﬂfff) /)lsi:uéfg(v@;}g’ ()
electroplating of chromium.
4 ?c‘,m.agCgéfJHr,gK (NaOH) 3\ T ¥\ srd ot U6 Se Ui A ()
(b) What is molarity? Write its formula and explain how one molar solution of
sodium hydroxide (NaOH) is prepared?
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